26 § 3. JlorapudmMuyeckue ypaBHeHus u HepaBeHCTBa

24 —2x — x?
25. log,s_, (——) >,
By 14

26. log,2(x+2) <1.
log, x*
log, x?—4"
28.10g:1 (x +2) -log, (x+1) >log(, 5 (x +1).

27 logé 8 +10g§ 8<

2—log; x

X
29. logs x +log, 3< Toe %

logs x.

x2—2x
3 )<O0.

31. (log, 2)(log,, 2)(log, 4x) > 1.

30. log% (logg
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Pewtume credyroujue ypasrenus u HepaseHcmaa:
1. logs(x+1) +logy(x+3)=1.
2. 1g5+1g(x+10)=1 +1g(21x —20) —1g(2x — 1).
1 1) _ A ST 1
3. 1gx— Elg(x— 5)—1g(x+ 2) 5 1g(x+ 8)'
4. 98129 =552 _ 5
5. x1*gx =10x,
6. (Igx)?—3Igx=1gx?—4.
7. (logy x)% +2 log, v/x=2.
X2 Y s 2
8. logs (T) =logs (x__+ 1).
9. 2log,(4—x) =4 —log,(—x — 2).
10.log: (x — 1) +logi (x+1) — Iog%_ (ZT=x)=1.
2 2 2
11.log, . ,(x?—3x+1)=1.
12. log, x —8log,.2=3.
13. 1 +2 log(x+2) 5= 10g5 (x + 2).
14. log, 2+ = 2log52,
15
15. log, =
(4 ) 10g2 ()EC) s 1
16. log% (5x—1)>0,

17. log;(3x - 1) < 1.
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18. 1g(x*—5x +7) <0.

19. log, ( ! —XZx) <0.

20. log} ; x +logy s x < 2.

2
21. logsz m
22,41 oo

Tl+lgx  1-lgx
23.log1(8x—4) > log§ (x—2).

24. log(),s (4 T3 X) ? ].Ogo’s 2 - logo’s (x - 1).
25. logy ; (x* +x —2) > logy , (x +3).

26. 1+1log, (x —2) > log, (x*> — 3x +2).
27. logi [log,(x*~5)] >0.

28. logé (x%—6x+18) +2logs(x —4) <0.
29. log1 x>1log, 3 — %

3
30. logs v/3x+4-log, 5> 1.




